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wiE% WEBEETRARRSHILE
% g R - IR B 2 il * % =

[ERET 260, 343,900 + 24,600, 101 284,944, 001
EEAGE 260, 343, 900
EERE 24, 600, 101
Z Ot R 260,343,900 x 42.86% ( 30% + (1 — 30%) ) 111, 583, 395
BRI 284,944,001 + 111,583, 395 396, 527, 396
—REERS 396,527,396 x 53.85% (35% + (1 — 35%) ) — 7,398 213,522, 604
ES Tt 396,527,396 + 213,522, 604 610, 050, 000
HEREHRLE 610,050,000 x 10.00% 61,005, 000
EScESEE 610, 050, 000 + 61,005, 000 671, 055, 000




HBERARE MEBEE TR S HE R
E f7) K - BART R B =3 =T i] & % m =
B[R 284,944 001
HEASHEIRRERSEHEER 284,944, 001
MR BAERTIKNEREEER 284,944, 001
HMEAERETRREZISEEMER 260, 343, 900
TR R B £ 259, 539, 300
1 TR FERME T 24.00 10, 346, 440 248, 314, 560
A
2 IR RAEREEIER &M (R7.4.1~R8.3.31) 12.00 935, 395 11,224, 740
A
TEE 715, 200
3 TEHE 24.00 29, 800 715, 200
[=]
% - |E 89, 400
4 & - mE (FEFH) 1.00 29, 800 29,800
=
5 % - mE (hfEE) 1.00 29, 800 29, 800
=R
6 i - WME (EHTTH) 1.00 29, 800 29, 800
=
EERE 24,600, 101
EHERARE 2,575, 367
1 EHEARE 1.00 2,575, 367 2,575, 367




BEMWREK WEBEE TR RSB LES
% [ I - BAIKTE Bifg = i & %8 W =

EHEHBERARE 5,150, 734

8 EEHERRE 1.00 5,150, 734 5,150, 734
=

EBAEHEEHS L VEGES 6, 000, 000

9 EFHBBEEHS LV EERES 1.00 6, 000, 000 6, 000, 000
=

EBERAEREEHOLUBERES 10, 674, 000

10 ¥BAERZEEHNBLURRES f7E R7.4.1~R8.3.31 1.00 4,374,000 4,374,000
=

1 XBEASBEENSLUERESE #MF R8.4.1~R9.3.31 1.00 4,140, 000 4,140, 000
%

12 $BAERZEEHB L UVURERES B R 1.00 2,160, 000 2,160, 000
=

R 200, 000

13 £FHER 1.00 200, 000 200, 000
=




RER-FEI/ Svr—2 RN TR R SR BT
&E5 1
L IR RHEERELE ED)
% ] B - Btk sE B 8 B B ff & %@ i ® =
HEF (A)
A 1. 40 59, 600. 00 83, 440
®Em (C)
=® 1.00 10, 263, 000. 00 10, 263, 000
& B YEZREH - 1.008 10, 346, 440. 00 10, 346, 440
5:2
L MIKRHBHEERE &M (R7.4.1~R8.3.31) 1%y
% o 1B - TR Bif Y &8 B ff & & i % =
ECRO)
= 1.00 935, 395. 00 935, 395
= E 1YE38EH - 1.008 935, 395. 00 935, 395
E#5:3
L A B
3 7 W - kA B ¥ B B ff & %@ " E =
HER (A)
A 0.50 59, 600. 00 29, 800
= B {EZ8EH - 1.00[= 29, 800. 00 29, 800
=54
2 B - BE GEFH) ET L)
3 xfr\ - kA Bify B B B & % 1 " =
HEF (A)
A 0.50 59, 600. 00 29, 800
= B EZ8EH - 1. 00X 29, 800. 00 29, 800
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55
B i - WE (PR 1K%Y
4 f R - KT B B = B f o % W = 5 &
HEm (A)
A 0.50 59, 600. 00 29, 800
& g EZREH - 1. 00K 29, 800. 00 29, 800
5:6
&% 9E - RE (EBETH) 1X5Y
4 [ R - RTiE B % = B S %8 W = 5 &
HEf (A)
A 0.50 59, 600. 00 29, 800
& B 1E%8EH : 1.00K 29, 800. 00 29, 800
57
&% BHARE 1K%Y
4 b R - RTiE B #H = B ff & %8 w = & =
EHEARE
= 1.00 2,575, 367.00 2,575, 367
& B EZHEH : 1.00K 2,575, 367.00 2,575, 367
&5 :8
2% BERERARE 1LY
4 b K - KT =R v B 2 B O{f o 2 W = 5 &
TEHEERARE
= 1.00 5,150, 734. 00 5,150, 734
& it 1EZE8EH : 1.00= 5,150, 734. 00 5,150, 734




RER-FEI/ Svr—2 RN TR R SR BT

59
& EXABPESHP LV EELRES 1K%Y
4 kg g - R & =R B =B B & B W = g &
XA HEENS L VELRES
= 1.00 6, 000, 000. 00 6, 000, 000
=) it EZREH - 1. 00K 6,000, 000. 00 6, 000, 000
&5 10
£ EBAEKEEHNS LU HERESE #WF R7.4.1~R8.3.31 1X5Y
£ kg R - BARTiE =R (72 B = B ks 2 W = g &
XA BEENPLUVERES
= 1.00 4,374,000.00 4,374,000
& it 1E%8EH : 1.00K 4,374,000.00 4,374, 000
&5 1
£ EBAEBEENSLUHERESE #F R8.4.1~R9.3.31 1K%Y
4 b R - KTiE BT #H = B ff & %8 w = & =
(XA BEENB LUV ERES
= 1.00 4,140, 000. 00 4,140, 000
& it EZEHEH : 1.00K 4,140, 000. 00 4,140, 000
BHBE 12
&1 XEBASHEENSSUHGERES BR IEED)
£ kg R - BARTiE =R (72 B = B ks 2 W = g &
XA BEENBLUVERES
= 1.00 2,160, 000. 00 2,160, 000
& it 1EZX8EH : 1.00= 2,160, 000. 00 2,160, 000




Rfiz -/ \wir—o

HEBER TN IERASEEES
&5 :13
£ EBRER 1XLY
£ kg g - BiKTiE B H = i & % W E g &
EERERE
=® 1.00 200, 000. 00 200, 000
=) it EZREH - 1. 00K 200, 000. 00 200, 000




